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Data : Collection of numbers obtained as an observation of

specific system

consider •
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" data
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there
,

data Yi ( as data metres Ii) is obtained

under parameters ✗ i for parameter vector Ii)

I.e. each data have associated parameter

txomple : (1) flip coins and news head ( o) or tail (1)

( Yi
, Yz , - -

, Yn )

where Yi is either 0 or I

(2) Consider m different coins manufactured Cso

each coin will be slightly different from another)
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(Xi
,
Yi) , 1×2,74 , . . ,
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wht
✗ i is either coin 1-

, coin 2
,
. . ,

or coin m

Yi is either 0 oh 1-
.

13-1 Measure drag coefficient by throwing an

object of fined shape & sire n times and

measuring Cd

Cd
, , Cdz , . - , Cdn n observed drag

coefficients

(4) Measure drag coefficient by knowing on object of

fined shape & size n timer

(Mi , Cd , ) , ( m2 , Cdz ) , i - i
( Mn , Cdn )

wht
mi = man of an object in ith enperimut

Setcontainingdatavaher A set of numbers from which

each observation value is drawn .

Disireteset-i.fr coin flipping , the set is 40,1}
think

of
←Yinuowrlconlinuumlrealset-r.fm drag coefficient

more
set is { ✗ joy of any positive number⇒her
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Consider Y , , y, , .
.

, Yn n data

• Mean ( arithmetic mean ) toe drag coefficients
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isweightedmean.medianl-nothpeacenh.ieof data )

orange in increasing order
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where i = 2-

• Made value in data that appears most frequently



sspreadofdata
while mean

,
mode

,
median etc . inform about the

"

center
"

or

"

key
"

wake of dater , we also want

to know how large the values in data can

vary from each other .

Eiompk : two emanpkr have some neef ( zero mean )
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10.1 , 1) → [ o , , , o.z=É⇒→ set 1-

[0.2, 0.3) → set 2

10.3 , 0.4)

i.

[0.9, 1) → set 9

foreachcdi , find [ a :-b:$ sit

Cd ; C- Tai, bi)

sett appeared 50 times"÷÷÷÷**:


